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BTl vs HHEKF

D1 [ - P 2@ vs N - H E 7-5,5-7,3-6 R
D2 S - TA(vs FFf - 57k 6-2,6-3  JHFI
D3 #AKRBEE(4) - HHEG@)vs WHH - b 2-6,3-6  WER
S1 ZGu(3)vs A 0-6,5-7 HuR

S2  FH@B)vs 47k 3-6,6-3,0-6 TR

S3  #nAE@vs by 2-6,2-6 WGR

S4 WH@)vs HHE 57,06 HOE

S5 JFHEQ)vs HE 6-1,6-2  EF

S6  TAF(2)vs AT 6-4,7-6  B5F]

# 3-6 HuB

BT AEE vs KBRS

D1 FH - £HGvs H - HE 1-6,2-6 HGR

D2 KB4 - T (2)vs 17 - HiH  4-6,5-7 R
D3 /PR « HFHEQ@)vs A - BrE 671,64 BEF
S1 #ABE@vs lpE 0-1 F1H8)0

S2 LEHB)vs B 0-6,0-6 HUE

S3 FH@)vs A 7-6,6-2  JEF]

S4 HHE@vs FE  2-6,1-6 R

S5 I Q)vs HiH  6-3,7-5  WEF

S6  THH2vs EX: 6-2,6-7,6-7 Bk

i 3-5 HO&



[l vs B KRS

D1 +)Z - SiEB)vs BEA - N 6-0,6-3  FEFI

D2 /24 - BEHG)vs FTH - BiE 6-7,6-3,6-1  FBFl
S1 TEQ@vs BiE 6-1,6-0 F

S2 mfEBvs FH  6-2,6-2 R

S3 /Z(@vs #EAR  6-0,6-0  FEF

it 5-0 A

A AE vs A EKEF

D1 /M) - BEHG)vs & H - % 1-6,1-6 JR
D2 L} - miEB)vs KV - KK 6-2,6-2 7]
S1 TE@®)vs KK 6-0,6-0 EF]

S2 mEEB)vs &H  6-3,0-6,3-6 R

S3 /ME@vs iE  1-6,6-7 HGE

3t 2-3 HWoR

=l vs RALKE:

D1 % - BEHG)vs HK - R 2-6,2-6 HUR
D2 1) - EiE@)vs A - BE  6-1,6-1  FB5F
S1 TEQ®vs &E 6-0,6-0 WEF

S2  EfEB)vs A 6-0,6-1  EF]

S3 HEFHEB)vs AR 1-1 FTHEIY

R 3-1 A



